
versione 0
Equazioni differenziali- 0
Expand@DSolve@8y'@xD ã 3 Tan@xD * y@xD + 8 Sin@xD, y@pD ã 3<,

y@xD, xDD

99y@xD Ø -2 Cos@xD - Sec@xD3==

Funzioni di due variabili, punti critici- 0

g@x_, y_D := x2 * ‰-x+y2;
f@x_, y_D := g@x, yD; Expand@f@x, yDD;
Print@f@x, yDD;
grad = Expand@8D@f@x, yD, xD, D@f@x, yD, yD<D;
Print@gradD;
Print@Solve@grad == 80, 0<, 8x, y<DD;

H@x_, y_D =
¶∂x,xf@x, yD ¶∂x,yf@x, yD

¶∂y,xf@x, yD ¶∂y,yf@x, yD
;

Print@Simplify@MatrixForm@H@x, yDDDD

‰-x+y2 x2

92 ‰-x+y2 x - ‰-x+y2 x2, 2 ‰-x+y2 x2 y=

88x Ø 2, y Ø 0<, 8x Ø 0<<

‰-x+y2 I2 - 4 x + x2M -2 ‰-x+y2 H-2 + xL x y

-2 ‰-x+y2 H-2 + xL x y 2 ‰-x+y2 x2 I1 + 2 y2M
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Plot3D@f@x, yD, 8x, -.5, 4.5<, 8y, -1, 1<, PlotPoints Ø 20D

Integrale doppio- 0

f@x_, y_D :=
1

x
;

AssumingBy > 0, SimplifyB:‡
1

2

y
f@x, yD „x,

‡
1

2

‡
1

2

y
f@x, yD „x „y>FF

:LogB
2

y
F, 1 - Log@2D>

AssumingBy > 0, SimplifyB:‡
1

2

x
f@x, yD „y,
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2

x
f@x, yD „y „x>FF

:
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Numeri complessi- 0
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Matrici- 0

Clear@kD; A =
1 - k 0 0
-1 2 -1
-k 2 2

; x =
3
1
2

; MatrixForm@A.xD

3 H1 - kL
-3

6 - 3 k

Solve@A.x ã -3 x, kD

88k Ø 4<<

k = 4; Print@MatrixForm@ADD

-3 0 0
-1 2 -1
-4 2 2

Eigenvalues@AD

:-3, 2 + Â 2 , 2 - Â 2 >

versione 1
Equazioni differenziali- 1
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Expand@DSolve@8y'@xD ã 4 Tan@xD * y@xD + 10 Sin@xD, y@pD ã 3<,
y@xD, xDD

99y@xD Ø -2 Cos@xD + Sec@xD4==

Funzioni di due variabili, punti critici- 1

g@x_, y_D := x2 * ‰-x+y2;
f@x_, y_D := g@y, xD; Expand@f@x, yDD;
Print@f@x, yDD;
grad = Expand@8D@f@x, yD, xD, D@f@x, yD, yD<D;
Print@gradD;
Print@Solve@grad == 80, 0<, 8x, y<DD;

H@x_, y_D =
¶∂x,xf@x, yD ¶∂x,yf@x, yD

¶∂y,xf@x, yD ¶∂y,yf@x, yD
;

Print@Simplify@MatrixForm@H@x, yDDDD
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2-y y - ‰x
2-y y2=

88y Ø 2, x Ø 0<, 8y Ø 0<<
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MatrixForm@H@0, 2DD
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Plot3D@f@x, yD, 8y, -.5, 4.5<, 8x, -1, 1<, PlotPoints Ø 20D

Integrale doppio- 1
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f@x_, y_D :=
2

y
;

AssumingBy > 0, SimplifyB:‡
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y
f@x, yD „x,
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f@x, yD „x „y>FF
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AssumingBx > 0, SimplifyB:‡
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:2 LogB
2

x
F, 2 - Log@4D>
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Clear@kD; A =
2 - k 0 0
-1 3 -1
-k 2 3

; x =
3
1
2

; MatrixForm@A.xD

3 H2 - kL
-2

8 - 3 k

Solve@A.x ã -2 x, kD

88k Ø 4<<

k = 4; Print@MatrixForm@ADD

-2 0 0
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Eigenvalues@AD

:3 + Â 2 , 3 - Â 2 , -2>
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